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(1 O O Apartment building owners argue that rent control should be
abolished. Although they acknowledge that they would increase
rents in the short term, owners argue that in the long term the rent
Increases would lead to greater profitability. Higher profits would
lead to increased apartment construction. Increased apartment
construction would then lead to a greater supply of residences and
lower prices as the potential apartment residents have a better
Oselection. Thus, abolishing rent control would ultimately reduce
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Abolishing rent control will increase the supply of housing
(premise). greater supply leads to lower prices (premise). and thus
abolishing rent control leads to lower rents (conclusion). Itisa
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1 usually, sometimes, probablyd [0 OO O 00 O [J :Some scientists
believe that carbon dioxide-induced global warming may increase
the number of hurricanes in the future and their severity.[1 [ (I [J
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(1 O "which of the following is NOT an assumption of the argument”
[ O "which of the following does NOT describe an argument made
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